R EHEEEEH-G116
[ frimE
1. DLAB Jyi% » [SME—IF /7% AHKB » LI BC 38 » [MIP9fE—IF )57 CBDE » 1L AC
Byig o [YME—IEJTF CAGF -
2. 1@ DEEE AB (Y P{T4R 81 CA MERLHATH L B » BLAH A1 M B » B BK 5214 N B «
3. DK (PEEUIEIZE 1 BERIHE - D - K =Bhit4y) -

4. EPEDH -

5. fi¢ H BifF AC fJE{T4782 DK 33720 B -

F
G
C
E
A B
/ \D
L
M N
0O
H K

[CREE#TE ]
sa HIEJT7 AHKB FTDJEIHAVERSE T - R T57 AMNB BB HERSHY 550 > Jesiik
SPATVUER - HEE R SR E s TR R (5 > S 2I8E )7/ CBDE A - HAIAEE
HERENER - 1527 MHKN BY IR A] 2248 = A7 HDK YRR REHAR RIA » mi& i
K EHEAIR R



JereBH =4 DKBEL =f4Jp CAB 25 » ({35 E - D - K =By ¢
K/ BD =BC,BK = BA, /DBK =90" — /DBA= ~/CBA > fffLJ
ADKB = ACAB (SAS %),
5% /BDK = /BCA=90" » fit}\ «BDK + /BDE =180" - fifl)
E-D-K =%idt4g -
s5HH = A7 OHK £ = Ff, CAB 25

% HO/I'AC > Fiil) ZACB = /HOK > F255H 1.57 DK //CB » FiF L ZOKH = /CBA >

X HK =AB » A

AOHK = ACAB (AAS 4:55).
RSB E R E SV EEE - BEE I AMNB HfFELE 5 /2 CBDE HifEMH

Vivirgliny

% .
TR T B 77 AMNB (R 57 4TI ALDB Eifs » X

4FPUE T ALDB [Eifs =DB x DE
= [F /77ZCBDE [fifg,

Fir A
£ J7ZAMNB [Hif& = [FJ5/FCBDE [Hif&.
PA=r41F DHK HfEHYFERRZE » 15514 7P MHKN EIfREBLE 57 CAGF HfgfHS

£ ADHK 1 > DI DK &EE » HO B - 5%

ADHK@%EZ%XWXH_O:%XA_CxA_C
Ffr A
£ J7TZMHKN [fifE =2ADHK [HifR
=2x (% x DK x HO)
=AC x AC
= IE ¥ CAGF HifA.
B 1] FH EIR TR (3t 2 L E BV RA (A

1FEJ72AHKB [fifE = £ 77 FZAMNB [HifE + & 7 FZMHKN [HifE
= SEATUUETZALDB [Eifs +2ADHK &g
=1 J7/ZCBDE [Hit& + 1 ;7 -CAGF [HIfE.



=&
AB° =CB’+CA”.
]

c?=a%+b

GRS
1 AR - AREESRET(E.S. Loomis ) fEMAYE(E (LEH) T8k © B (#EEH 2 A
1900 £ 8 H 1 HAHFIHY - .
2. Lfe t IEEEHEE-PATRVUIEIFRE > M EP ERE SR - et R RevEiE
s S R AU SR B AU AU AR I R 0 - BT Al HE IS S e A TS A SRR 5
N R ] T HERHURTS - IR B E A AKEEH -

3. PR

ok = NG /4

i

4. REA : 55H G109 - G112 B G116 HYfERE S - Bl AC BB IE T b B R AR T
FHENAR



